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1. 99 #ifrg 4 3R B, 3x3 @ife & g
%wfam__ #K |B |“E§ A
|2B(adj(34))| & w1 1 ® ?

(@) 27

®) 2«/_
© 2—27
@ 1

iB+2z+i=0, &l i=-1,

A (|z]+1) AR TR ?
@1

(b) 4

(c) 81

(@ 121

. | 30, 1,4, 5 TART &K, 3Hhi H

grufy feg fmm ag o W) s
et G G T ATHA FT R ?

(a) 44440
(b) 46460
(c) 46440

(d) 64440

RRAN-B-MTH - A

4.?&x,y$\?z,@aiwg,ef

xy +yz + zx N HE TR ?
(@ 0
(b) 1
() 2
@ 3

.0 gey & 7 Reder ¥ (4 wfeemd sk

3 e¥) | SER ueht & ot 7 feagr
g (3 wfemmd sk 4 qew) | A A
3 wfgemait ok 3 qeut @ fha WK
¥ fifa = dHa € aifs s @
3 feder Tew & B 3k 3 Reder sweht
ot & B ?

(a) 340
(b) 484
(c) 485
d) 469

. & Bw POR T vR ® f6

3 fag PO ¥ w & €, 4fag QR Y
wWIRsFgrRP YT R @@ 1 =
fagelt @ ofd f we W = P
e g ¥ | 58 WER g e Pyt
i wen fFat @ 7

(a) 205
(b) 206
() 215
(d) 220
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1. Let A and B be matrices of order 3x3.

If |4] = ﬁ and |B|= %, then what

is the value of [2B(adj(34))| ?

(@) 27

S5 |
(b) 2z

© ?

@ 1

.If z is any complex number and
i23+zz~z+i=0,wherei=\/—_l,ﬂwn

what is the value of (|z|+1)2?
(@ 1

(®) 4

(c) 81

@ 121

. What is the sum of all four digit
numbers formed by using all digits
0, 1, 4, 5 without repetition of digits ?
(a) 44440
(b) 46460
(c) 46440

(d) 64440

3

4. If x, y and z are the cube roots of unity,

then what is the value of xy + yz + zx ?
(@ o0
®) 1
(c) 2

d 3

. A man has 7 relatives (4 women and

3 men). His wife also has 7 relatives
(3 women and 4 men). In how many
ways can they invite 3 women and
3 men so that 3 of them are man’s
relatives and 3 of them are his wife’s
relatives ?

(a) 340
(b) 484
(c) 485

(d) 469

. A triangle POR is such that 3 points

lie on the side PQ, 4 points on QR and
5 points on RP respectively. Triangles
are constructed using these points
as vertices. What is the number of
triangles so formed ?

(a) 205

(b) 206

(0 215

d) 220

A — RRAN-B-MTH
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7. 3¢ logya=p, logge=2p IR

logse = 3p, T (ace)% ferereh SR ® 7
(@) bd*f?

(b) bdf

() bd’f

) b*d’f?

. afg wre

ap+apx+ayt+apd+x4=0 aﬂljf
_JZ #k 3 &, et ag ay, ap a3
ot &, @t Preaferfes § & -

TR

@) a;=ay=0

(b) a,=03Ray=-5
(©) ag=6,a3=0

(d) a1=03:ﬁ'(02=5

LA Y z, 3R 2z, W OWER H QA
1??:

(@) -1
() 0
(¢ 1
@ 5

RRAN-B-MTH - A

10. afe 26! = n8*, W&l k 3R n TAYUIS €,

11.

A k 1 Al wE TR ?

(@ 6
(®) 7
(c) 8

d 9

A FME n & T FoHAva ATE!
A 3R B & wed # fuafafaa wumi

R fmr Eﬁfﬁl’"{ :
1. adj(AB) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — |AB|I,, n Ffe
TF A ATE ®

S w & A frem @@ § 7
(a) g o T

(b) A Teh HIT

(c) WAl g FaA

(d) |t o\ wuA
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7. If logya = p, log,c = 2p and logge = 3p,
then what is (ace)% equal to ?

(@) bd?*f?

(b) bdf

(c) bd*

@ v%d’f?

.If—«/f and\E are roots of the equa-
tion @y + ax + ayx? + ap® +x* =0
where a, a;, a,, a; are integers, then
which one of the following is correct ?
(@ a;=a3=0

(b) a,=0 and a3 =-5

() ag=6,a3=0

(d aj=0and a,=5

. Let z; and z, be two complex numbers

ZI +Zz

such that =1, then what is

L2
21

Re| — [+1 equal to ?
22

(a) -1
() 0
(c) 1

@ 5

5

10. If 26! = n8*, where k and n are positive

11.

integers, then what is the maximum
value of k ?

(a) 6
(b) 7
(c) 8

d 9

Consider the following statements in
respect of two non-singular matrices
A and B of the same order » :

1. adj(AB) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — |AB|I,, is a null
matrix of order n

How many of the above statements are
correct ?

(a) None
(b) Only one statement

(c) Only two statements

(d) All three statements

A — RRAN-B-MTH
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12. FMfe n & FHAvia ARl 4 & el (© 10(1 - @), 10(10 — »?), 1000

# frafafea st ) fer it .
(d (1+w), (10+0?),-1

1. A(adjA”) = A(adjd)"

2. TR A= 4, WA nay qegwe 15 A +DH+ (1 - e s R, et

W% i=a-1%7?
3. AR A3 = 4, R ARNE n 1 Toww (a) 4
s (®) 0
I9YTh FAT A A HA-8 el § ? © <4
(a) Saer13R2
@ -8
(b) a2 3R 3
16. Fife 3 % v fww wafim sege 4 &
(c) Fae13R3 wed # fmafafea st w fsw
(d) 1,233 i

1. g+t et srama = |
13. ¥R et Fit Vet foraelt wegef weard §

forrn aeft st w € 2 2. wrge & wlt fael sremat w0
(@) 625 w% I
(b) 500 3. A wifers 3o ® |
() 400 ST Fat F A BA-A G E 2
d) 256
@ (a) Fae 132
14. I 0 # 1, 0 & o B, @ ) I 2ok 3
(z—100)3 +1000=0F BT AT & ?
@ 10(1 - w), 1010~ @?), 100 () Fa 133
(b) 10(10 - w), 10(10 — w?), 90 (d 1,23R3
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12. Consider the following statements in

13.

14.

respect of a non-singular matrix 4 of
order n :

1. A(adjA™) = A(adjA)”

2. If A2 = A, then 4 is identity matrix
of order n

3. If 43 = A, then A is identity matrix
of order n

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2 and 3

How many four-digit natural numbers

are there such that all of the digits are -

even ?

(a) 625
() 500
(c) 400

@ 256

If ® #1 is a cube root of unity,
then what are the solutions of
(z-100) + 1000=10?

(@) 10(1 - @), 10(10 — ®2), 100

(b) 10(10 - w), 10(10 — ?), 90

15.

16.

(¢) 101 — w), 10(10 — ®?), 1000

@ (1+), (10+ 0?), -1

What is (1+i)*+(1-i)* equal to,
where i=J~_1 ?

@ 4
() 0
© -4

@ -8

Consider the following statements in
respect of a skew-symmetric matrix 4
of order 3 :

1. All diagonal elements are zero.

2. The sum of all the diagonal
elements of the matrix is zero.

3. A4 is orthogonal matrix.

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 a.nd 3; only
(c¢) 1 and 3 only
(d 1,2 and 3

A — RRAN-B-MTH



17.

18.

19.

FH 1,2, 3, 5 H AN K Hh
ggfa fg femm wR s @@
TS St € | T A fRah s 4@
fawrfoa gFft 2

(@) 120
(b) 24
© 12
@ 6

gfe 2120y 7 @ fawfoa ferar s <
QYRS T BRI ?

@ 1
() 3
© 5
@ 6
n & T wm & foo arfs

Cc(9,4) C(93) CA0,n-2)
c(11,6) C(11,5) c(12,n) |[=0,
C(m,7) C(m,6) C(m+1,n+1)

Wl m > n o foIQ 2
(2) 4
(®) 5
© 6

@ 7

RRAN-B-MTH - A

20. afe ABC & Bryet , @1 wrfe

21.

cosC sin B 0
tan A 0 sin B | &1
0 tan(B+C) cosC
E R ?
(a) -1
(®) 0
(0). 1
@ 3

wfafee 1, 2, 3, 4 &1 W W TAF
arege # 4 wfafeat a fean B
R T¢I wEA & (FRER H
Fgafa ®) ?

ok R

22.

(b) 216
(c) 254
(d) 768
WWA={xeR: —1<x<l}%|
frafafea # s9-w1 /-8 48 @@
R T AT e /% ?
L f) = x|
2. g(x) = cos(mx)
N fow U Fe W W@ W T IW
iﬁq:
(a) &9 1
(b) e 2
(©) 1323
(d T 1,982
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17.

18.

Four digit numbers are formed by
using the digits 1, 2, 3, 5 without
repetition of digits. How many of them
are divisible by 4 ?

(a) 120
(b) 24
(c) 12

(d) 6

What is the remainder when 2'20 is
divided by 7 ?

@) 1

® 3

19.

(c) §

d 6

For what value of n is the determinant
c9,4) C(93) C10,n-2)
Cca1,6) C(11,5 ~ C(12,n)
C(m,7) C(m,6) C(m+1,n+1)

for every m>n?

=0

(a) 4
(b) 5
(c) 6

d 7

9

20. If ABC is a triangle, then what is the

21.

22,

value of the determinant

cosC sin B 0
tan 4 0 sinB | ?
0 tan(B+C) cosC

(@) -1
® 0
(© 1
(d 3
What is the number of different
matrices, each having 4 entries that can

be formed using 1, 2, 3, 4 (repetition is
allowed) ?

(a 72
(b) 216
(c) 254
(d) 768
LetA= {x € R: —1<x<1}. Which of

the following is/are bijective functions
from A4 to itself?

1. f(x) = x|x|
2. g(x) = cos(nx)

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

- (c) Both 1 and 2

(d) Neither 1 nor 2

A — RRAN-B-MTH
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23.

24.

A +ifog R foge siawet (-1, 1) Row

ey g ¥R R={(x,y):|x+y|<2}

7 far mn % @ FeafeRea &

FH-a1 wel © ?

(a) R, @JF § | 7 a gafi@, 7 &
HohHE ©

(b) R, @I IR wafia § W G
T R

(c) R, @I IR HFWE & W fda
T 2

(d) R TS T G99

frelt st = sftes wg=at 4, B, C
& forg

(AUB)—{(4-B)U(B-A)U(4NB)}

 forer R ® ?

25

(a) Fh wq=a

(b) 4

(c) B

(d AUB-UANB

. afe B ABCH Yo a, b, c €, @

a? bsinA c¢sinA

bsind 1 cos A |
cos A 1

csinAd
foras s ® 7

@ Y=

(b) Bt @1 e
(©) P 1 afem
@ a>+b*+e2

RRAN-B-MTH - A

10

26.

27.

28.

afe a, b, c, APH §; b, c,d, GPH §;
c,d,e,mﬁ%,?ﬁﬁﬁﬁ%ﬂﬁ%
-7 /-7 wE /R ?

3 a,caﬂ'( e,GPﬁ%

() 1323t
(d A 1,782

logy(x — 1) =logy(x - 3) & Bl <t wEn
foraet @ 7

(@) TF
(b) TH
© @
(d)

oy 1% R o v

Iog,[%}+log{%]= k, @t k &1 AW
frar R e M T S awar & ?
(@ -1 :

® -5

(© 0

@ 1
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23.

Let R be a relation on the open interval
(-1, 1) and is given by

R={(x,y): |x+y|< 2}. Then which
one of the following is correct ?

" (a) R is reflexive but neither sym-

24.

25.

metric nor transitive

(b) R is reflexive and symmetric but
not transitive

(¢c) R is reflexive and transitive but
not symmetric

(d) R is an equivalence relation

For any three non-empty sets 4, B, C,
what is

(AUB)-{(4-B)U(B-4)U (4N B)}
equal to ?

(a) Null set

() 4

(c) B

(d AUB)-(A4NB)

If a, b, c are the sides of triangle ABC,
then what is

2

a bsinA csinAd
bsin A 1 cosA| equal to?
csind cosA 1
(a) Zero
(b) Area of triangle
(c) Perimeter of triangle
d) 2+ +c

11

26.

27.

28.

If a, b, c are in AP; b, ¢, d are in GP;
¢, d, e are in HP, then which of the
following is/are correct ?

1. a, ¢ and e are in GP

2.1 1.1 e inGP

. . E.. e

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

What is the number of solutions of
logy(x—1) = logy(x—3) ?

(a) Zero
(b) One -
(c) Two
(d) Three

Forx=zy>1,

let Iog,[%] & Iog)(—ii) =k,

then the value of k& can never be equal
to

@ =1
1
(b) o
) 0
d 1

A — RRAN-B-MTH
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sin20 2sin26-1 0
29. 3¢ A=|cos20 2sinOcosh 0 ,?ﬁ

0 0 1
freafafaa & @ s-w1/90-3 Fa=
TR/ ?

1. A7 = adjA

2. A faww g smege @
L3 et

d for T Fe W wERT W EE W
qfQ:

(a) &Had 1
(b) 132
(c) 13R3
(d) 23R3
-5
30. (l—x?)20[2—x2-—i) & e 7 x10

x2

& U7 TR ?
" (@) =1
(b) 1
() 10

(d) x'0%F e F sfere @ R

RRAN-B-MTH - A

31. 3R (m.x+ljn ¥ weRw ¥ 4thwg 2 R,
X 2
A mn & W TR ?
(@) -3

(®) 3
£)-6

d 12

32.9f a, b c (@a>0,c>0)GP ¥ &,
A WSRO ax? + bx+c=0 % deH #
1. oHteRw & st oo € |
2. TR ¥ A B I 1: 0 R
el o Th H TH T € |
2
3.H=ﬁww%qsﬁwgvm[-zﬂ
?I
Iugeh FH § ¥ HA-F e ® ?
(a) Fae 132
(b) aw 23R 3
(c) ¥ad 133

(d) 1,233
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: - 31. If the 4th b i :
sin20 2sin’6-1 0 1. If the term in the expansion of

n
29.1f A=|cos20 2sinfcosd O, then (m +1] in 3 hen whist 1o:4hie Vet
i 0 1 X158 '
' of mn?

which of the following statements
is/are correct ?

(a -3
1. 47! = adjA (b) 3
2. A is skew-symmetric matrix (c) 6
3. A4 1=4T d 12

Select the correct answer using the

i o R
aode igiven below': 32.Ifa, b and ¢ (@ > 0, ¢ > 0) are in GP,

then consider the following in respect
of the equation ax®> +bx+c=0:
(a) 1 only

1. The equation has imaginary roots.
(b) 1 and 2
' 2. The ratio of the roots of the

(c) 1and3 equation is 1 ‘o where @ is a
‘cube root of unity.

(@ 2and3 3. The product of roots of the
Gy L
- tion is | — |.
30. What is the coefficient of x'° in the iz (‘,2
al .
20
expansion of (1—-x2) (2—x2-——-l—- ? d :
x2 Which of the statements given above
are correct ?
(@ -1
(a) 1 and 2 only
®) 1 (b) 2 and 3 only
(c) 10 (¢) 1 and 3 only
(d) Coefficient of x'° does not exist (d) 1,2and 3

13 A - RRAN-B-MTH
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- 33.3f¢ x & @ gl WAl ¥ fg 3 cos10°-sin10°
2+t TE QU R, QPRI 0% T gmasoeoszy T SO € 7
¥ -4 wd € ? '

(@ 1
1. mT&H 2
it o) 3
2. nT& qUIich & A
¥ fou T e @ vERT W EE S @ 4
3 :
(a) &aa 1 ' 37. (sin 9° — cos 9°) forereh sTeR ® ?
(b) Fad 2 ol 5_5
(c) 1323l ' 2
(d FF1L,TE2 @ _\/5__\/5
2
34. (x +y)lx—y)?1 & foue W #
| 3 © B
AAIG F AEA Y € | 7 &1 | 2
qA TR ? i m
(@ 1 4
®) 2 | '
38. afe wa Brys ABC #, sin®4 + sin’B +
A sin3C = 3sin4 sinB sinC, a1 AR
(d) 8

a b c

hie ammmquﬁa,b,c

35. °/F T 4={1,2,3,4,5) IR

c ab
;—%71}%;#;3«%@ e 1 S £ 2

@ 10 (@ a+b+c

(b) 20 (b) ab+be+ca

(c) 30 (© (a+b)b+c)c+a)
(d 32 @ 0 |

RRAN-B-MTH - A 14
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33.

34.

3S.

If xX2+mx+n is an integer for all
integral values of x, then which of the
following is/are correct ?

1. m must be an integer
2. n must be an integer

Select the correct answer using the

- code given below :

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

In a binomial expansion of
(e + )P -y,
the sum of middle terms is zero. What

x2
is the value of v ?

y

(@ 1

(b) 2

) 4

@ 8

Let A = {1, 2,3, 4,5} and B = {6, 7).

What is the number of onto functions
from A to B?

@ 10
(b) 20
(© 30
@ 32

36.

37.

38.

'\/5 cos10°-sin10°
sin25°cos25°

What is equal to ?

(@ 1

) 3
(c) 2
(d) 4

What is (sin 9° — cos 9°) equal to ?

J5-+5

(@ - 5

®) - 5'2‘5

© 5;/5

@ 5;\/5

If in a triangle ABC, sin®4 + sin®B +

sin3C = 3sinA sinB sinC, then what is

a b e
the value of the determinant |b ¢ a|;
¢ ab

where a, b, c are sides of the triangle ?
(@ a+b+c

(b) ab + bc+ca

(c) (@a+b)b+c)cta)

d 0

A - RRAN-B-MTH
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39.

40.

41.

A} cos~lx = sinlx, @ frafofea #
F-41 T8 © ?

(a) x=1

(sinG—cosﬂ)zlzza;EﬁiﬁT e
ﬁﬁﬁ%,ﬁﬁ—x<9<z ?

(a) FF TH
(b) ¥Faa A
() WR

(d) = & T

ABC & P =@ weR ® f5 @

R?

(@) 2

(®) 2
(© 1

@ %

RRAN-B-MTH-A

42,

43.

44,

J15+cot2(£.—2cot_l 3) frad SR
4

g7

(@ 1

(b) 7

() 8
(d) 16

sin10°-sin50° + sin50°-sin250° +
sin250°-sin10° & A feheeh sRT&R & ?

1 i

(a) 27
® -3
© 3sir;10°
() !

b a+b
g7

n .
(a) s

/1
(b) 2
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39. If cos”'x = sin'x, then which one of *
the following is correct ? 42. What is J lS-’r(:(Jtz(I‘-—21‘.‘,0t_1 3)
(@ x=1 equal to ?
(@ 1
1
(b) x . () 7
© 8
1
C =—_— d 16
© x B (d)

43. What is the value of sin10°sin50° +

@ x=L sin50°-sin250° + sin250°-sin10° equal
3 to ?
1
40. What is the number of solutions of (@) e
(sin® — cos@)? = 2 where -t <0< 7 ?
£ G s
(a) Only one () _:4—
(b) Only two © 3sin10°
4
(c) Four
3cos10°
(d) No solution : i 4
41. ABC is a triangle such that angle PREEISE tan'l(%]—tan'l[a;i)
— &0° . cosA+cosB a
4 60,ﬂ1enwhat1s_(rﬁ REED
co
s 3 ¥
a ———
equal to ? (a) T
(a) 2 T
(b) 2
b) V2 b
-1l a -b
c) tan
() 1 : © [ g 5% bz]
(d) g ' 5 i) 2ab
V2 ' () 24 b2 .
17 A — RRAN-B-MTH
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45. frafafaa # ¥ fre oy ¥ sitq,
THIEH
(cosp —1)x2 + (cosB)x + sinf =0 &
x &1 Bel0, 7] & fow w arafew g@
g7

(@ 1-cosp <0
(b) 1~cosﬂ$0
(¢) 1-cosp >0
(d 1-cosp=0
46. S ABCH, AB =16 cm, BC=63 cm

IR AC=65cm® |
cos 24 + cos 2B+ cos 2C <Rl €I T

2
(@) -1

() 0
(e) 1
' 76
(d P
ar.3f% fo)=—L_ e a+p="T,

@ f(a)f(B) MAR FTE ?

1

(a

1
(b) 3
() 1
@ 2

RRAN-B-MTH - A

48. af% tana 3R tanp =T
x2—6x+8=0a§31§%, ar
cos(2a +2B) & HF FT § ?

o

(@ 75

13

). =%

124
85

19
85

(©)

(d)

49. tan 65° + 2tan 45° — 2tan 40° — tan 25°

& AE TR ?
(a) 0
() 1
(c) 2
@ 4

Frafafaa st w fer 6w .

1. @& fqs 4BC H, afe
cotd-cotB-cotC>0, q Byt w=

gaia P |

2. @& Prygst 4BC #, af
tand-tanB-tanC >0, @ Byt ws
st @i g R |

Sudth FEAT § ¥ HA-w1/FE-2 g6
/%7

(a) &1

(b) e 2

(c) 1323t

@d TA 1L, T2

50.

18

Downloaded from www.cclchapter.com



45.

46.

47.

Under which one of the following
conditions does the equation

(cosP — 1)x% + (cosP)x +sinff =0

“in x have a real root for fe[0, 7] ?

(@ 1-cosp <0
(b) 1—cosfp <0
() 1—cosp >0

(d 1-cosp =0

In a triangle ABC, AB = 16 cm, BC =

63 cm and AC = 65 cm. What is the -

value of cos 24 + cos 2B + cos 2C ?

(a) -1
() 0
© 1
76
0 =
If /(6)= i and a+B="7,

then what is the value of f(a) f(B) ?

(@ —-

(b)

N | =

() 1

@ 2

19

48.

49.

50.

If tana and tanf are the roots of the
equation x2—6x + 8 =0, then what is
the value of cos(2a +2p8) ?

13

@ 75

13

b

17

(c) 25

19

@ =

What is the value of
tan 65° + 2tan 45° — 2tan 40° —tan 25° ?

(@ 0
(b) 1
() 2
d 4

Consider the fbllowing statements :

1. In a triangle ABC, if _
cotd-cotB-cotC >0, then the tri-
angle is an acute angled triangle.

2. In a triangle 4BC, if
tanA-tanB-tanC > 0, then the tri-
angle is an obtuse angled triangle.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — RRAN-B-MTH
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)

52.

53.

e g2+ 32+ 2+ 6y + 1 = 0 g
(a,b) R IR B c R, A2 +p2+2
& HAE TR ?

(@) 19

(b) 18

(© 17

@ 1

g (1, -1, 2) ¥R @2, 1, -1) T
X2+ 2+ 22+ 2ux + 2vy + 2wz —1=0
%W%Wﬁgﬁ, T‘ﬁ.u+v+w
ferereh sRTeR R 7

(@) -2

(b) -1

() 1

(@ 2

xy-TFad § wHiER x = 5 gRT Frefia
forgait & wen &

(@) =@

(b) TH

() @

(d) Fad: s\

RRAN-B-MTH - A

54.

S5.

56.

afe ®AA 2x — 3y + 62+ 4= 0
e (i) & foem-ararea
<lLmn>%, ?ﬁ49(7!2+m
AN TR ?

2) m
(a o0
(b) 1
©r 3
@ 71

(1, -1, 2) & et & w @ fas

ﬁ%'m <39 2s 2> %v m
x+2y+3z=18 R firadt & | @r 3k

Toae o Whseg fag wr @ ?
(@) (4,4, 1) |
®) 2,4, 1)

© @ 1,4)

d G,4,7

afz (1, 0, 0), (0, 1, 0) 3K (0, 0, 1) A

Wmﬁmaﬁ‘f‘ﬁg (origin to -
theplane)%‘ﬂa’@p% T‘ﬁszﬁFﬂa-?
aﬂat%?

(a) 4
(b) 3
© 2

(d 1
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Sk,

S2.

53.

If (a, b) is the centre and c is the radius
of the circle x> +y*+2x+6y+1=0,
then what is the value of a® + b? + ¢? ?

(a) 19
®) 18
() 17

@ 11

If (1, -1, 2) and (2, 1, —1) are the end
points of a diameter of a sphere
x2+y2+ 22+ 2ux +2vy+2wz—1=0,
then what is u + v +w equal to ?

(@) -2
(b) -1
© 1

d 2

The number of points represented by
the equation x =5 on the xy-plane is

ia) Zero

(b) One

 (¢) Two

(d) Infinitely many

54.

5S.

56.

If < I, m, n > are the direction cosines of
anormal to the plane
2x-3y+6z+4=0,

then what is the value of

49(71% + m* —n?) ?

(@ 0

() 1

) 3

@ 71

A line through (1, -1, 2) with direction
ratios <3, 2, 2> meets the plane
x + 2y + 3z = 18. What is the point of
intersection of line and plane ?

(@ 4,41

b 2,4,1)

) 41,4)

@ G.47

If p is the perpendicular distance from
origin to the plane passing through
(1, 0, 0), (0, 1, 0) and (0, O, 1), then
what is 3p? equal to ?

(a) 4
(b) 3
(é) 2
@ 1

A - RRAN-B-MTH
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57.“&@@%%—W<Lm,n>

58.

59.

O [+2m+n=0, 21-2m+3n=09
RE N2+m I AA L ?

(@)

(b)

41

(©) 01

92

@ Tor

ﬂﬁ'@ﬁﬂ?i‘@,x+2y— =0 IR
2c—y-1=0%@s & wfesdg fig
q B eRdt € R fadye aet @
A 3R BR et §, @ 4B & wen fig
FT @I T ?

(@ 3x+y=10xy

(®) x + 3y = 10xy

© 3x+y=10

(d x+3y=10

&g (-sin6, cosh) & B oA ATl

3R @ xcosh + ysind = 9 W & &
J@T T G T § 7

(a) xsinf — ycosh — 1 =0

(b) xsinf — ycosf + 1 =0

RRAN-B-MTH - A

22

60.

(¢) xsin@ — ycosf = 0

(d) xcos@ —ysin@ +1 =0

A fgrakot@y=2x+3w f@a
g1 3 M fag P 3k 0 feelt a=n
fog R(L,5) ¥ 2 7 & 3@ w ¥
PR O fagatt & fdunes a1 € 2

kit S N
o 4545)[ (T i JEJ
(c) - 4 2 4

61. afe feedt orf &t 3 omd, 2x +y -3 =0

AR 4x+2y+5=0@mit ® e §,
AN 30 9 H e 9 SEEH TR ?

(a) 605
(b) 615
(c) 625

(d) 635
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§7.

58.

59.

If the direction cosines </, m, n > of a
line are connected by relation
I+2m+n=0, 21-2m+ 3n =0, then
what is the value of 12 + m? — n2?

(@)

29
(b) 101
41
() ™
%2

@ o

If a variable line passes through the
point of intersection of the lines
x+2y-1=0and 2x-y-1=0
and meets the coordinate axes in
A and B, then what is the locus of
the mid-point of 4B ?

(@) 3x+y=10xy

(b) x+3y=10xy
©) 3x+'y=10
@ x+3y=10

What is the equation to the straight
line passing through the point

(-sin@, cosf) and perpendicular to the
line xcosf + ysinf = 9 ?

(a) xsinf — ycosf — 1 =0

(b) xsinf — ycosf + 1 =10

23

61.

(c) xsinf — ycos@ =0

(d) xcosf — ysin@ + 1 =10

. Two points P and Q lie on line

y =2x+ 3. These two points P and Q
are at a distance 2 units from another
point R(1, 5). What are the coordinates
of the points P and Q ?

(a) [1+%, 5+%], (1——%, 5—%}

If two sides of a square lie on the lines
2x+y—-3=0and 4x + 2y + 5 =0, then
what is the area of the square in square
units ?

(a) 605
(b) 615
©) 625

d) 635

‘A — RRAN-B-MTH
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62. ABC Us P ® fadt 4 & s

(3,5) ® | AB 3R AC Yot & wem forg
FAA: (-1, 2), (6,4) R & | Brgst 4BC
& g & daies w € 7

i
@ |33
(53]
® (33
(© (2» %]
8
o3

. ABC'T& =gamita, wafgeme B €
Tl SRR YO AB 3R AC @it
Tx-y-3=03Mx+y-5=0WR &
2| afe R Foi F uw w6 R,
al cotd forad aTg ® ?

(a)
()

i
3
2
-
4
© 3
d 2

. WRaed y? =8x W, T R fom w fag
P& i gt 8 s @ | Frfofea
# q HH-61 /S0 T T R /8 7

1. P ¥ fduia (6, 443) & v &

2. waed @ fraar & p &t o g
8 TS ®

RRAN-B-MTH - A

24

65.

66.

i g
Tfi :

(a) ¥ 1
(b) ¥ 2
() 19K 23
(@ ad1, T8 2

M Fe H TN IR T I

ST 6 Iohgar @ © afe @y @ F
T R & afEt S e et W=
@At & S T 90° ® ?

(a)

L | =

(b)

B | —

-

(©)

(d)

‘;ﬁ[...

M g @ =i- j+ k 3R
b=f+2/-% ®1 AR Tx(Bxa)=
ai-Bj+vk, @ a+p+y W A T

R7?

(a) 8
(®) 7
) 6
d 1

Downloaded from www.cclchapter.com



62. ABC is a triangle with A(3,5). The

mid-points of sides AB, AC are at
(-1,2), (6,4) respectively. What are
the coordinates of centroid of the
triangle ABC ?

o (33
33
=9
52

(b)

©

(d)

.ABC is an acute angled isosceles
triangle. Two equal sides AB and AC
lie on the lines 7x—y-3=0 and
x+y—-5=0. If 6 is one of the equal
angles, then what is cot6 equal to ?

(a)

U |

(b)

(©)
@ 2

.In the parabola y?=8x, the focal
distance of a point P lying on it is
8 units. Which of the following state-
ments is/are correct ?

1. The coordinates of P can be
(6, 443).

2. The perpendicular distance of P
from the directrix of parabola is
8 units.

25

65.

. Let

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What is the eccentricity of the ellipse if
the angle between the straight lines
joining the foci to an extremity of the
minor axis is 90° ?

(a)

W | -

(b)

(©

-

d

-

A A

=i—f+k and B =F+2/-%. If
ax(bxa)=ai-Bj+yk, then what
is the value of a+ B+ 7y ? '

]}

(@) 8

(b)) 7

© 6
@ 1

A — RRAN-B-MTH
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- 67.

69.

w&zsmléqﬁmwmqmaﬁwz?%

wsr 3§ %m R 4k & &=
Wem%ﬁwﬂﬁw%ﬁﬂﬁ
T8 ?

@ (1,42,1)

®) (1, =2, 1)

© @, -2, -1

@ 1,2, -1
. T -3t & wew # Frmfofed w
fommr s

1. u& fig & ufka: so-smgel, <@ &

IR fog & == 2

2. T @ & uRka: wel-smeel, T
afey afyr 2
I F4A1 § ¥ BA-1 /- T
R/%7?
(a) &9 1
(b) et 2
() 13K 2=t
(d qFdqLL,T82

et afew. 7 % fog,

F-DExD+FDEX))+F-T)Fx k)
feraes ae © ? :

@ ©

®) 7
(c) 27
@ 37

RRAN-B-MTH - A

70. m?ﬁ&qw&m%aaﬁw?aﬁt
B @ Z wama% RZTIRGT-D
%iﬂ?aﬂiﬁMW3?

@
(b)
©

(d
71. €19 Fhﬁ[t’, »(x) IR Vo(x) FHahd
gt %” ¥ w E1 oAk

y1(0)=0 3R p,(0)=4, A FH y,(x)

Wyz(x)%ﬂﬁ%iﬁgﬁﬂm
foraet 2 2

(a) =15 forg =g
() T fag
(© @ fag
(d) a fagatt & aften

72. 9% y = €*(a cosx + b sinx) Sel a 3 b
@ IR ¢, 9 fEfm =@ T
Jaehel THIT

d2
_.|.2 0
(3)_ ) ! b

aly &8 W[y vy

d’y dy
® %2

+2y=0
d’y _dy

c ——2—+2 0

(© ) y=

(d) ?+y=0

26
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67.

68.

- 6

If a vector of magnitude 2 units makes
anangle% withzf, -E—- with3f and an

acute angle 6 with 4k, then what are
the components of the vector ?

@ (1,v2,1)
® (1, -2, 1)
© (1, -2, -1
@ (1,+2, -1

Consider the following in respect of
moment of a force :

1. The moment of force about a
point is independent of point of
application of force.

2. The moment of a force about a
line is a vector quantity.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

For any vector 7, what is
FDExD+T-NEX]) +(F- k)7 x k)
equal to ?
._.)
(@ 0
®) 7
() 27
d) 37

70.

7,

72.

Let ¢ and b are two vectors of
magnitude 4 inclined at an angle E;

then what is the angle between

7 and 5’—3’ ?
b/
(a) 3
b i
(b) 7S
Tt
(©) 2
b/
(d) s

Let y,(x) and y,(x) be two solutions of

the differential equation %:x. If

¥1(0) = 0 and y,(0) = 4, then what is the
number of points of intersection of the
curves y;(x) and y,(x) ?

(a) No point

(b) ‘One point

(c) Two points

(d) More than two points

The differential equation, representing
the curve y = €*(a cosx + b sinx) where
a and b are arbitrary constants, is

d2y
a) —5+2y=0
@ s ik

d*y _dy
—5+2=4+2y=0 .
LT G e
d’y dy
© ZZ-2Z42y=0
(d) 3 +y=0

A — RRAN-B-MTH
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73.

74.

7S

e fx)=ax—b R gx)=cx+d

WwR OB f(e()=g(fv),
frrafafaa & @ =-w1 ot ® 2

@ f(d) = gb)

(b) f(b) + g(d)=0
© f(a)+g(c)=2a
(d) f(d)+ g(b)=2d

ﬁl (3sinx —sin3x) cos’xdx ferass

W © ?
£ ey
() 0

(©

N | —

1
@ 7
Fahel GHIEHTT

{2—(-@J2}%=-‘?—ZZ & A @ife
dx dx’? '

3R ura T § ?

) 2,2

(b) 2,3

{e) 3. 2

@ 2,5

RRAN-B-MTH - A

28

76.

77.

78.

afq %ﬂe‘ya, »(0) =% at
4y2(2 —¢*) freh SRR © 7

(@ 1
() 2
(c) 3
d 4

" i p=ff(x)dx IR

q=rlf(x)ldx% | afe fx) =™, At
fraffaa F ¥ T aR 2?7

(@ p=2¢q
) p= ¢
() 4p=¢
d p=¢q
.[2 a+sinx i Bk
0 2a+sinx+cosx
L
@ 5
/4
(b) ; ;
() 1
@ o
. b 98 FOK 7 4 ¢ e fo
W16x3

3 —4bx* +x & x> 0 ufE |

q @ sfteraw w9 R 3R A @ Eaw
H R ?

@@ 0<b<l

(b) 1<b<2

© b>2

d 0=b<l1
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73.

74.

75.

If f(x)=ax—b and g(x)=cx+d are
such that f(g(x)) = g(f(x)), then which

one of the following holds ?
(@) f(d) = g(b)

(b) /() + g(d)=0

(©) f(a) + g(c)=2a

(d) /() + g(b)=2d

- o L az .
What is J_I(BSlnx~sm3x)mszxdx
equal to ?

1
(@) Tk

(b) 0

(c)

8| =

(d

What are the order and degree respec-
tively of the differential equation

76.

f i |

If %:29’ ¥, y(0)=% then what is
4y%(2 - e*) equal to ?

(@ 1

(b) 2

(c) 3

(d) 4

b b
Let p=J. f(x)dx and ¢ =I |/ (x)|dx.

If f(x)=¢€™, then which one of the

78.

19

following is correct ?
(@ p=2

®) p=-¢

(c) 4p=¢

d) p=gq

T i
: 3 a+sinx
What is J.

- dx equal
0 2a+sinx+cosx

to ?
(a)

(®)

(© 1
d 0

Ny &Y

The non-negative values of b for
]

which the function -1-%15-—4&2 + x has
neither maximum nor minimum in the
range x > 0 is

(a 0<b<l1

(b) 1<b<2

© b>2

(d 0=<bh<l1

A — RRAN-B-MTH
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;| 1
80, f(x)= R g(x)=
3“ Y 17 s sl - A1
¥ ded ¥ Prefofea ¥ d-m w@
R?

(@) flx) & FB Wd § AR g(x) &
FE wiq T ®

(b) f(x) &1 HE wid T& & AR g(x)

F FS WA
(©) fx) ¥R g(x) & Wid THEAH §
@) f) 3R gx) T R Wi E ¥

R AW G @ (02) v & fow

frrafafes w e Sifse .

W%Mmﬁmm

n

83. frafafaa wodt W R it
L. f(x) ST (e, ©) # aHAE ®
2. f(x) AT (1, e) ¥ GEAH ©

3. 9in7 > 7In9
Syt FEAEl H ¥ A9 6 R ?

AW FW A« @ (02) wemi & fau (a) Fae1 1 3R 2
o e frm e - ) ¥ 2 9K 3
foar T 2 3cosx+4s%nxdx= (©) ¥aa 1 3R 3
- 2cosx +5sinx
B @ 1,23R3
£+-—-—In.|2cosx+53inx|+c

29 29
- 84. fraferfaa womt w fomm difsmg .

81. o I HHE FT & ?

1

@ 7 L f'@=¢

(b) 13 2. f(x), x = e W T Taad AH
() 17 WTH & §

(d) 26 3. f(x) & THIE FATH A e ©

82. B & HH w1 ® ? S F A A B @ R 2

(@ 7 | (a)aﬁﬂl_amz
®) 13 (b) ¥ 2 3 3
(c) 17 (c) Fae 1 3R 3
(d) 26 @d 1,233

RRAN-B-MTH - A 30
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80. Which one of the following is correct Consider the following for the next two (02)
items that follow :

- 1
n respect of f(x)= and
lel—x Let f(x)zli; (x>1)
nx
= ?
5 ;jx —|xl : 83. Consider the following statements :
(a) f(x) has some domain and g(x) has L. f(x) is increasing in the interval
no domain (e, )
(b) f(x) has no domain and g(x) has 2. f(x) is decreasing in the interval
some domain (1, e
(¢) fix) and g(x) have the same 3. 9In7 > 7In9
s Which of the statements given above
(@ f(x) and g(x) do not have any are correct ?
domain

(a) 1 and 2 only

Consider the following for the next two (02) (b) 2 and 3 only

items that follow :
(¢) 1 and 3 only

e i 3cosx+4sinx ,
TS Y eoex+Suin: (d) 1,2 and 3
o ks : i ; :
E+'2_9‘3”|2003x +35sinx|+c 84. Consider the following statements :
81. What is the value of o ? L f"e)=~
(@ 7 2. f(x) attains local minimum value
(b) 13 atx=e
(c) 17 3. A local minimum value of f(x)
ise
@ 26 : :
Which of the statements given above
82. What is the value of 8 ? are correct ?
(@) 7 (a) 1 and 2 only
(b) 13 (b) 2 and 3 only
(c) 17 : (c) 1 and 3 only
(@) 26 (d) 1,2 and 3

31 A — RRAN-B-MTH
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IR IW oA @ (02) wwiwt & fog I7deh FUAl § A FA-8 "R ?

framfef w famm fif: (a) ¥ 1 3R 2
w1 A A f(x) AR g(x) T OIHR § i a5
1
ﬁﬁg(")”"}l? I foglx)=+"-. () ¥ 13K 3
85. g[ f(x) — 3x] fFas =R © ? @d 1,23R3
(€)) 3’——13 88. lirg‘h(x)+ Ii%l h(x) feredh sT=R 8 ?
X x—0- x>0+
1
Ll @ -
© - ® -5
¥ A : 1
(d) x +x2 . © !
86. /"(x) ferereh =RTeR ® 7 3
' (d) 2
2
@ ~= .
» IR FW A q (02) wema & fog
) B freferfias W foer P :
X A .
(c) 6x+3 . Gy Fﬁﬁ‘l(p(a)=.‘.a+lmnlsinx|dr
(d) 6x a
FA FW AW R (02) venwi & fu 89. ¢(a) foFes aTR R ?
frrafafaa = fmer $ifsg - (@ 0
- wqA AN fx) = x| +1 R gx)=[x]-1, (b) a
et [] sfterem quife %o # | (©) 100a
- (d) 200
A i hx) = L& @

g(x)

’90. "(a) Torees aqaR B 7
87. frafafea suat w e $ifsg : o'

(@ o
1. f(x) @t x < 0 & forg sraserta @ e
2. g(x),x=0-0001‘1i'€i’ﬂﬁ% (c) 100
3. g(x) FT x =2-5 W aders 1 (d) 200

RRAN-B-MTH - A 32
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Consider the following for the next two (02)
items that follow :

Let f(x) and g(x) be two functions such that
1 o5, 2
g(x)=x-— and fog(x)=x"-—.

85. What is g[ f(x) - 3x] equal to ?

1
@ x-—
x3

(b) x*+-
X X

1
© x*-—
xz

@ x*+—
x
86. What is f"(x) equal to ?

2
(a) b1 |

2
2x+—
(b) 25+

(c) 6x+3
(d) 6x
Consider the following for the next two (02)
items that follow :
Let f(x) =|x| + 1 and g(x) = [x] — 1, where [.]
is the greatest integer function.

Let h(x) = /&
g(x)

87. Consider the following statements :
1. f(x) is differentiable for all x <0
2. g(x) is continuous at x = 0-0001

3. The derivative of g(x) at x=2-5
s 1

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3
88. What is lim h(x)+x£1}]1+h(x) equal

x—0-
to ?

o e
® -
(©

(d)

Consider the following for the next two (02)
items that follow : '

89. What is ¢(a) equal to ?
(@ 0
(®) a
(c) 100a
(d) 200

90. What is ¢'(a) equal to ?
(@ o
(b) =
(c) 100
(d) 200
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IN FW oA q (02) wwwi & fog () 0
Frafafm = fer Hifsg : | L
T e Her f(x) T T Aftean B
AT x=0 R B | 2
i RS e ol 94, Ioh(x)dxﬁﬂa?m%?
o1. freafefea # & A-w /a8 wd @ _%
2/t e
1. f(0)=0 :
) 0
2. f"(0)< 0
H fow 1T Fe F WA W T SW (d)%
3 :
(a) ¥aet I FW A @ (02) wwt F g
(b) 3w 2 ﬁmﬁf@amﬁandxﬁ&q: .
() 13 2 gt Hﬁ?ﬂﬁquJx+l_Jx_l=a(x+1)2+
d AadML,TT2 : . ﬂ(x-—l)%+c.

o2, Freafiem ¥ 3 P g Wy 9SG W M WRT

x=0 R It sftemaw 7@ ® ? (a)_l_

@@ a>0,b=0 3

(b) &t b 3R a=0F forg ®) 2

(c) Faw @t b > 0% forg _(0)13

(d) §i g R b=0% fog &

d s

M o T @ o v ¥ R o
ﬁﬂﬁ-lﬁﬁqtf%rﬂﬂiﬁﬁm: 96_ﬁa;[1:|ﬁqm%?

T A ) =[x - 1), g6x) = [x] 3R 2

hx) = fx)g(x) e [] aftrcham quiten et s

?1 1

(b).—g

93. [° h(x)ax foreds T & 7 !

: (c) 3

@ -3 2

il @ 3
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Consider the following for the next two (02)
items that follow :

A differentiable function f(x) has a local
maximum at x = 0. Let y = 2f(x) + ax - b.

91.

92.

Which of the following is/are correct ?
1. f(0)=0
2. f"0)<0

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

The function y has a relative maxima
at x =0 for

(@ a>0,b=0

(b) forall band a=0
(c) for all 5> 0 only
(d) for alla and b=0

Consider the following for the next two (02)
items that follow :

Let f(x)=|x - 1|, g(x) = [x] and
h(x)= f(x)g(x) where [.] is greatest integer
function.

93.

0
What is f_lh(x)dx equal to ?

@ -3

(b) -1

35

©

0

1
@ 3

2
94, What is J’Oh(x)dx equal to ?

(a

(®)
(©)

(d)

2
£
0

:
2

Consider the following for the next two (02)

items that follow :

s J.Jx+1‘ix\/x-—1

3
=a(x+1)2 +

3
B(x-1)2 +c

95. What is the value of a ?

@

(b)
©

(d)

= W W=

W

96. What is the value of 8 ?

(@)

(®)

©

(d)

2

Wi W=
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AW FW G @ (02) st & fog
frmfafas w fmr ifsg

ﬁﬂxz+y2—2x=03-?f,i'@Ty=x§RT€f'@'§T
# fewfa fen man @ | wm <ifv 4, 4,
A S 3R WY Gl % SR © |

97. A, W HT § ?

n—-2
L) Bt 0

mT+2

(b)T

Wz
@

3In+2
4

(d)

2(4; + Ay)
A -34,
@ =

(®) 1

© -1
d) -=
I AW T A (02) wewt ¥ fg
frrafafeaa ® e Hifso

w i 3f(x)+f[%) =41

98. & AW FT e ?

99. f(x) fraer seR ® 7

36

100.

101.

102.

©

(d)
8"/ (x)ax fovedn e @ 7
(@) InfsVe)

(b) In(4x/g)

(c) In2
d mn2-1

Teh T # 5 el AR 4 T%e WS § | W
aftn agfes w0 & Q1 T feea
il yREa e RFA A R @
TR ?
® <
5
(b) 108
4
olig

5
(d 18

ofz wh afees =R (x) g se @

e wwar @ e wen 5 sk

WU 4 ® 3R SPP(X=3)=r4, @
A WE HT R 7

(a 3

(b) 5

() 23

d) 25
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Consider the following for the next two (02)
items that follow :

The circle x*+y*—2x =0 is partitioned by
line y=x in two segments. Let 4;, 4, be
the areas of major and minor segments
respectively. - :

97. What is the value of 4, ?

mT-2
e
T+2
i

3m-2
4

©

3m+2
4

(d)

98. What is the value of %% ?
(@ =
®) 1

LA~
@ -=

Consider the following for the next two (02)
items that follow :

Let 3f(x)+f(%)=%+l

99. What is f(x) equal to ?

) =

=
®) 3 8/ 4

100.

© —+z+
8
@ —->+

What is 8 ff(x)dx equal to ?
(@) In(8Ve)
() in(ae)

() In2

101.

102.

@d Im2-1

A bag contains 5 black and 4 white
balls. A man selects two balls at
random. What is the probability that
both of these are of the same colour ?

@ ¢

5
(b)ﬁ

4
(© 9

5
(d 18

If a random variable (x) follows
binomial distribution with mean 5
and variance 4, and 5PP(X = 3) = A4%,
then what is the value of A ?

(@ 3
®) 5
(c) 23
(d) 25
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103.

104.

105.

 (0)

- 106.

W (-4,1), (-1,2), NI G, 1@
y'ﬁxWEW}GTy=a+bxm
& S R, W 2a + 15hH AE TR ?
(@ 6 -

(b) 11

() 17

@ 21

W?ﬁﬁQx+2y+l=03ﬁ'(
2x+3y+4=07 GIHEY [T § S
foret feor 31 @ ufkafora &t 7 © |
afz 0 = QW & 9= gEEw R, @
488tan30 & W T § ?

(a 191

(b) 161

() 131
@ 121

afe @ el =W X @R ¥ wEy

2X-3Y
e A R TR x fem

WA ol TN oAl © frEe wEe
1

(a'{TFﬁE'{)n=103ﬁ'(p=5 g, Ay
RO T ® ?

810

361

2

19

21

361

121
361

(@)

()

(d)

1 1
+_
b—a b-c

ﬂﬁ_a,b,cﬂl’ﬁ%,?ﬁ
forees areR ® 7

RRAN-B-MTH - A

38

107.

108.

Q= o

o=

+

s YL LY
wd 0 e
I fow g Fe H WEART W Tl IFK
g _
(a) ¥ 1

(b) e 2

(c) ¥« 3

@ 1,23k 3

T& @R A9 WER AR 98 7 150,
200, 250, 300 TIT Wi e H & W
forrar ® | WM ST 39 9K awt A &
yfEr ¥ wied ve wwm gwafy 9
W @d H, a9 & wfd ex ea T4
T # (SRTIT) FT R ?

(@) 210

(b) 220
() 230
(d) 240

Ife &g “TIRUPATI” & Uil (31&RT)
i agos &1 & formar wmg, @ w0
witar & f6 SH1 T &8 &FImaR
A4 ?

()
(b)
(©)

(d)

g E R e B o Do Bl i
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103.

104.

105.

106.

From data (-4, 1), (-1,2), (2,7) and
(3, 1), the regression line of y on x is
obtained as y = a + bx, then what is the
value of 2a + 155 ?

(@ 6

(b) 11

(c) 17

@ 21

Let x+2y+1=0and 2x+3y+4=0
are two lines of regression computed
from some bivariate data. If 0 is the
acute angle between them, then what is
the value of 488tan30 ?

(@ 191

(b) 161

(c) 131

(d 121

If two random variables X and Y are

connected by relation

2X-3Y

5X +4Y

distribution with parameters n = 10 and
1

p=5,ﬂncnwhatisthevariance of Y?

810
361

;!
19

21
361

121
361

=4 and X follows Binomial

(a)
®)
©

(d)

If a, b, ¢ are in HP, then what is

: +L equal to ?

b-a b-c

107.

108.

1[1 1 1]

3. —| —+—+-—

S bc

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only.
(c) 3 only
(d 1,2 and 3

An edible oil is sold at the rates 150,
200, 250, 300 rupees per litre in four
consecutive years. Assuming that an
equal amount of money is spent on oil
by a family in every year during these
years, what is the average price of oil
in rupees (approximately) per litre ?
(@ 210 -

(b) 220

(c) 230

(d) 240

If the letters of the word “TIRUPATI”
are written down at random, then what
is the probability that both Ts are
always consecutive ? .

(a)
®)

(c)

N = A= N =

==

@
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109. AF T m=77" B | AAH n R

agfoes &9 ¥ w9 e ww fan
St e | TR R e m W A

THE F WM W 1 A ?

1
(a) 2

W | =

(b)
1
(© ey
1
@ 5

110. Tgeht 15 gt weme # ¥ < fr

@ agfess ®9 A g W € |
a1 Witk @ 6 o & 9 dest @
TOEES e EEdT % SeK Bl ?

1
(a) 91

(b) 455
(©)
O 55

I I T @ (02) wwmwi & fog
frrafafas w R Hifv

a7 g 4 3R B R weAd W v €
P(AUB) = 0-75 3K 0-125 < P(ANB) < 0-375

R

RRAN-B-MTH - A

111. P(4) + P(B) & gaa® W 1 § ?
(@) 0625 |
(b) 0750
(c) 0-825
(d) 0875

112. P(4) + P(B) & ftemw WM #T ® ?
(a) 075
(b) 1125
(c) 1375
(d) 1-625

AW I a@ @ (02) wwwwi & fog
frrafafes w fmar Sifsg

A, B 3R C @ wead W WaR §
P(A) = 0-6, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0-3 IR P(ANBNC) = 0-2 &R
P(AUBUC) = 0-85.
113. P(BNC) &1 IaH A HT 8 ?

@@ 01

(b) 02

() 035

(d) 0-45

114. P(BNC) &1 HAftehaw w1 #7 & ?
(a) 01
(b) 02
(c) 035
(d) 045
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109. Let m=77". The index n is given a
positive integral value at random. What
is the probability that the value of m
will have 1 in the units place ?

(2)

[N

W | -

(®)

B -

©
1
@ 5

110. Three different numbers are selected at

random from the first 15 natural
numbers. What is the probability that
the product of two of the numbers is
equal to third number ?

(a)
(®)
(©)

(d

Consider the following for the next two (02)
items that follow :

Let A and B be two events such that
P(AUB) = 0-75 and 0-125 < P(ANB) < 0-375.

41

111. What is the minimum value of

P(4) + P(B) ?
(@ 0625
() 0750
() 0825
@ 0875

112. What is the maximum value of

P(4) + P(B) ?

(a 075

(b) 1-125

(c) 1375

(d) 1-625
Consider the following for the next two (02)
items that follow :

A, B and C are three events such that
P(A) = 0-6, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0:3 and P(ANBNC) = 0-2 and
P(AUBUC) = 0-85.

113. What is the minimum value of
P(BNC) ?
(a) 01
(b) 02
(c) 035
(d) 045

114. What is the maximum value of

P(BNC) ?
(a) 01
(b) 02
() 035
d) 045
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AW HW al q(02) v & forg
frafofes = fmr Hifvm

TS IR fia Y n IR IS ST @ |
A T TF od AW H W p @
aﬁtam%m%iaaﬁﬁmﬁw«;_%

3ﬁ?P—q=%‘%r

115. n & 99 F1 © ?
(a) 4

(b) 5
© 6
@ 7

116. p+q & A 471 & ?

57
32
53
32

51
(© %)

@ 1
I I A D (02) W ¥ R
Sosafaf o fam Ffm -

1 2 3 n
2-1 2—2 oy 2—(n—l)

(a)

(b)

X

fi 1

17. Y, f; foass s & 2

7 pind 5 )

2!!—1
2l'l+l i 2
2”"1

(a)

(b)

RRAN-B-MTH - A

42

2% a2
2!!-1
2H+l P e 2
2!!

©

(d)

118. 59 & HIEq w41 §© ?
patlgidio

2" -1
2?!"'1_”_2

2#-1

2”"‘] _n_2
2" -1
2ﬂ+] W

(@)

(b)

()

n+2
2!’!

d

AN AN G A (02) wenwi F fag
frafafas < ek fifte:

wiferdht it vdegm # 10 BT gR1 Ww fag
T 3 24, 47, 18, 32, 19, 15, 21, 35, 50 3R

41 % |

119. T@ & 979 Yo} &1 7w famew w@n
R '
(a) 48
() 55
(c) 6
d 75

120. 998 &3 9T WEAUT T WEOT T ?
(a) 146
(b) 218
(c) 252
(d) 468
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Consider the following for the next two (02)
items that follow :

An unbiased coin is tossed n times. The

probability of getting at least one tail is p

and the probability of at least two tails
5

isqandp—q=§.

115. What is the value of n ?
(@) 4
®) 5
() 6
@ 7
116. What is the value of p + ¢ ?

57
(@) )

53
(b) %)

51
(© E%)

@ 1

Consider the following for the next two (02)
items that follow :

00 ollt S0A B o e 5 e oo
Yo vizieas zY

117. What is Efx,- f; equal to ?

P nel

(a) 2n—l

2H+1 _n_z

(b) 2n—1

bl 1 E

(C) 2n—l

2R+l_n_2

d o

118. What is the mean of the distribution ?

P

el

2R+l_n_2

(b) 2n—l

2ﬂ+l__n__2

€ T

T k2
d e R R Pl
(d) o

Consider the following for the next two (02)
items that follow :

The marks obtained by 10 students in a
Statistics test are 24, 47, 18, 32, 19, 15, 21,
35, 50 and 41.

119. What is the mean deviation of the
largest five observations ?

(a) 4-8

(b) 55

(c) 6

(d 75

120. What is the variance of the largest five

observations ?

(@) 146

(b) 21-8

(c) 252

(d) 468
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10.

INSTRUCTIONS
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Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
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the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the
Answer Sheet liable for rejection.
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Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.
This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
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THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
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a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.
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question.
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for that question.
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